1 0 ROITEHEFE

2| m | o RDEETE TR EH
1845 | 284 | 3% | 454% | 0% | 6F4%

2 | K | R s e 13:00

MR 13:00

4 = {xﬁé\fﬁiﬁy~°/a¢/vv~ﬁ~%&ﬁ 13:00

5 | £

6| B

1| B | 2r—rnoes—xmn om 14 : 50 15 : 35

9 | 14 : 50 15 . 35

10 | K | s (24 Am 14 : 30 15 : 15
RER7 (3FE  ZAA

11| & | PIC (5%/5) 14 : 50 15:35 | 14:50 15 : 35
AY =N =2 VT =R H

12 | £ | socmamEss (kEmEEm)

13] |

14| B | A&A—YoH

15 | & 14 : 50 15 . 35

16 | 7k | PTAES 14 : 50 15 : 35

17 | K | stomthme 14: 30 15 : 15
AERE (28

18 | & | famn L okl (54E) 14 : 50 15 : 35
A==y ¥ VT —H—FIKH

19 | £

20 | B

21 | A 14 : 50 15 : 35

22 | % 14 : 50 15 . 35

23 | K 14 : 50 15 . 35

24 | K | mmsximn (24 cm) 14 30 15 : 15

25 | & | 4 AEIEED 270 14 : 50 15 35

26 |

27 | B

28 | A 14 : 50 15 : 35

29 | e | Amsrro MR ARBHES 13:20

30 | K 14 : 50 15 . 35

31| & 14: 30 15 : 15

11 HDERITHE
1H (&) SREES 6 H (K) 64ET I NLGEEERY 8H (K) 1HFERE
21H OK) =hiZikEuHE 13:20 TR 29H (&) 6HERFHR (77F)




